
 

Problem Set  

 
1. Match each spinner below with the words ​impossible​, ​unlikely​, ​equally likely to occur or not occur​, ​likely​, and ​certain​ to describe 

the chance of the spinner landing on black. 

     

   

 

13. Decide if each of the following events is ​impossible​, ​unlikely​, ​equally likely to occur or not occur​, ​likely​, or ​certain​ to occur. 
a. A vowel will be picked when a letter is randomly selected from the word ​lieu​.   
b. A vowel will be picked when a letter is randomly selected from the word ​math​.   

c. A blue cube will be drawn from a bag containing only five blue and five black cubes.  

d. A red cube will be drawn from a bag of   red cubes.001    

e. A red cube will be drawn from a bag of   red and   blue cubes​.01 09    

 
14. A shape will be randomly drawn from the box shown below.  Decide where each event would be located on the probability scale. 

Then, place the letter for each event on the appropriate place on the probability scale. 
 

   

 



 

15. Color the cubes below so that it would be equally likely to choose a black or white cube. 

 
16. Color the cubes below so that it would be likely but not certain to choose a black cube from the bag.   

 
17. Color the cubes below so that it would be unlikely but not impossible to choose a black cube from the bag.   

 
18. Color the cubes below so that it would be impossible to choose a black cube from the bag. 

 


